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Problem 9. Find the Laplace transform of a given function

(a). f(t) =5—e* +6t2, (b). g(t) = t1e% — et cos VT,

(c). p(t) = (t+1)2, (d.) h(t) = sin (¢t + 2m).
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Problem 10. Find the inverse Laplace transform of
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Problem 11. Use Laplace transform to find the solution of an initial value problem

(a). y" —y' =2y =0, y(0) = -2, y'(0) =5,
(b). y" + 4y = 4t% — 4t + 10, y(0) =0, ¥/(0) = 3.
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Problem 12. Find the Laplace transform of a given function

(a). y(t) =t2U(t —2), (b). y(t) = (sint + &) U(t — 27).
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Problem 13. Solve the given differential equation

(a). 2%y" — Twy' + 41y =0, 2 >0, (b).t%2" +3ta’ —4x =0, t >0,
(c). 22y —bxy' + 10y =0, >0, (d). 2% +3zy' +y=0, x> 0.
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Problem 14. Solve the initial value problem

2y +ay +y=0, y(1) =1, y'(1) =2
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Problem 15. Solve the system of linear differential equations by any method you wish
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